8. Given: GEOM is a parallelogram G E
Prove: GE = OM, MG = EO

Statements Reasons
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Use the following reasons to complete the proof. There are more reasons than needed.

S O A W N

a. Given

b. Definition of parallelogram.

¢._When two parallel lines are intersected by a transversal, same side interior angles are congruent.

d. When two parallel lines are intersected by a transversal, same side interior angles argesopplerrentery=—
€. When two parallel lines are intersected by a transversal. alternate interior angles are congruent.

f. When two parallel lines are intersected by a transversal, altemate interior angles azassuppherrentamps—
g. Vertical Angles are congruent.

b SharedSide. R@ ¥ kex Ve,

i._Transitive Property of Congruence

p{ﬁm parts of congruent triangles are congruent.
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9. One method that can be used to prove that the diagonals of a parallelogram bisect each other is
shown below. There are 3 mistakes in the proof. Find and correct them.

Given: ABCD s a parallelogram
Prove: AE = CE and DE = BE
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ABCD s a parallelogram

1.Given \/

L

2. ABis parallelto DC
AD is parallelto BC

2. Definition of parallelogram \/

Alleynaie

Di D)

3. LABD & LCDB, £BAC & £DCA 3. When two parallel lines are
intersected by a transversal, gsss=afre- |
interior angles are congruent.

4 AE=zECandDE=EB ite sides o allel
are congru

5. ADCE = ABAE =

6. AE = CE,DE = BE GICRETE ™

7. AE=CE 7. Definition of congruent segments

DE =BE
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